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_‘2‘ = < | |The quadratic formula is:
o bt Jb? + dac ‘ biyb?- |
T R 2 | |
P 5 4 1 el afi Fuygjuﬁ Tx?-n+d=0=ii-b, 0 F 4
Bk | r T | If 2 B are roots of equation 7x2 —x +4 =0
1 then af} s
i b _
l 3 = 1 ﬂ :?Jﬁfﬁ%ggﬂ 3
|| : , } Sum of cube roots of unity is: i
'1‘ :"ﬂ H“"j«iﬂm (s ":k; vl i %ﬂqf afa:best| 4
1 Pt Commguent Anircedent Relation Inaratio a: b, a iscalled: ‘ ,
12 % 4 15 ép‘“ T r
3 \ @ !Fmdumpmpurﬁun-i x::5:05:
" 5 +1
oA, B |AzeB € | A B 5. A Busic| -adnd” o x+z—5| ®
E+] T z+1 "x=1| =+l =x=1 x+l . x=1 | %
7 Partial ﬁmmsdm are of the form:
Ll | = = o :;mﬁ;flﬁﬂfmgh 7
Empty set Set . Power set Sub 5=t A collection of well defined objects is called:
U $ B i e e ANB I ACE fi| g
- If AcB then AMNB is equal to:
=113 = e ilF : -l .
by il T S , frlbesido /| s
Histogram o Sistribution Drata A Eﬁﬂum‘ﬁ‘ﬁqumtﬁjitﬁhitizs :_:zlllluml:i
,,,-g; | ,u ! a..-* =d -l LAty pile| w0
Propartion Cirigin _Ratio Value Mean is affected by change in:
I-tan? B I4cos @ 1+tan® @ I-5in® B sec’ Bm 1
*iﬂﬁ—-"ﬁ{fﬁ! : ;ﬁ!.g.;j g | e i £lgelE = e e |
Halfofany | . sl Double Sfm i e L gl 12
ey All unegual Aiiaer Al equal Radii af'a eircle are:
7 - 5 = ‘ e
Sl # k. 1 bl il 1
. temo Diameter Chord Secant Acirclehas onlyone:
: g Wik S _e Fheall 607 {Jff}j !.i#ﬂlu[" 4.0| 14
4 2 : = T
' A dem long chord subtands acentral ¥ -
, angle of 60° the radial segment of this circle is: k
et Mf i o | PR AT
, undary Segment Chioed The circumference of circle is called:
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( Part-1
Write short answers to any SI1X parts.

Wirite the equation in standard Farm: 7= | =

Salvethe equation: % 42x=2=0

Solve: VM In+lB mx

Evalusts; (1= 30— 30"}

ffemiat sime+n)aen=F=0

Find w? if: _ »
IHE% and Y= when 2= 3 find % when ¥=24
I_q‘: - ,;1

Find thie third proportional of; 133 z q

Find the founth propertional of: - 4x* , 2 1. ~
Write short answers 1o any SIX [_Jhi’lza; wp
Whhat is proper fraction? o

' =2
How can we make pantial fractions af m 7
IX={1,4,7,9) Y = {2,4, 5,9} then find ¥UX,

Define a function.

e KN U 2= (2,3,5,7,10,13,17,19,23) o ¥ = {0,2,4,6, ...

WX = {1,357 .. 09) ¥ = {0.2,4,6,..
Wirite all the subsets of [a , b} .

Find arithmetic mean: 200, 225, 350, 375, 270, 320, 200
Define a frequency distribution.

Drefine mode.

Write short answers fo any SIX parts,
Diefine ratio and give one examiple,

Find a third proporticnal to 28 and 4,

Diefine an angle.

=%

Conver] = B deprecs.

Find r when f = 56em and = 45 4
Cethle )

:+i_§_g.+4_n

e YUK Beyeqz,4,59X={1,4,7,9 f

Y=24 Gabup X By x=3 Lt ¥4 yat i

200, 225, 350, 375, 270, 320, 200 :&E A lLe

el imge §f 2

:ig = ;; td=0 EL-':LPL!JLIJ.EHW i)

)ladn=2=0 2L Hanle (i)

"il‘.fj;'i"ﬂﬂ = 15& i
U-3o-30™ ifpbcd @)

e A el P R ALY R

Without salving find the sum and product of the roots of quadratic eguation:

(¢ + mijn® +{m+n)x+n—{=0

"“ E:H.E—ﬁ Aglopor (i)

{vii)

;_,
P =4 {wiii})
E=
Py’ PP nq*q FPetld
ot n et ek Bl (in)

e A g e S 3
'i‘%ﬁﬂv}f@s i

Al A0S e W

(i)

<A v

(20} e X={1,3,5,7,..., 1918 )

. 20} and £ = {2,3,5,7, 11, 13, 17, 19, 23} then find XN(Y UZ),

e GH0L m by iy
{wii}
LS il
=£us&ﬁ5;;h (i)
ggﬁhﬂﬂyﬂﬁplzlf&:ﬂ’ =4
-Eefg pAled @)
LA W G
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Ldasel W

el 0 Ly tastem



d-sinl@l+un’@=1 Lok O

(1-sin26)1 + tan 8) = |
=£Lﬂ § al M D¢ _ira =67.38°  (yii)

k T =t 4?.53& Villlfﬂ Bﬁ.p Lq! ‘lﬂ’ S. ﬁlm‘i-
mLA =607 g mAC =4dem « mAB =5cm .ﬁéf;““‘ mﬁuﬁMH’ﬂ {wiii]
mA = 607

Ina AABC  caleulate mﬁ_ﬁ when mﬁ_ﬁ- = Scinie mﬁ =dgm and

[Divide an arc of any length into two equal parts.

W d VI iifi” @

w19 A upA 08 L LifelpLatirie ] iyt

Part - I, Attempt any THREE questions. Each question carries 08 marks. Question No. 9 is compulsory.

Ix+5=+f Ta+16 axs5=JTx+16  Zflonl ()
_usalp J}.Lu"‘ff L”s:s-isLﬁ;'q_Jﬂgjmf- £2 —3x +6=0=bl-P « afi ()

form equation whose roots are o2 B?-

M Solve the equation:

If . ﬂm’mﬂmﬂmal’mcrqu;@ﬁm xI-3x+6=0"
‘ - =3 .+ 3z " . s b Peea DY
4 = L S FE TR é—ﬂww@#}«fgp M -

Using theorem of componenda dividendo, fihB gkt WA
£ AN 1 , .
S S Y St d x*—3x+1 W Lo (o)
Besolve into partial fractions. <= — e LA r"ff 3
- ons: = Dix—2) (x-DP(x-2) £
|[yePay<I10} L={x|xeNaxs5} i) -

R={xyly=x} zhkiyM= LIM=IY
ifL={x|xeNaAx<5}, M={yly e P ay < 10}, then make the relation from L to M

R={(x.y)|y=x}
i Fi]ﬂ&h:mndlﬂd deviation of the data: 9.3,8 .E!g‘pgmg. 8 :évrjhﬁ_;{ﬁﬁjl:%ﬂﬁlf {._L_.]' |
Verify: (tan 0+ cot B)(cos O +sin ) = secf+ cosech Lk () _8
Diraw circle which touches both the arms of angle 457 . _ﬁrﬁfu@.} L!U}U-ﬁ- 45° ;J’i'iﬁ%ﬁfh £
L unbeiigioe St L mfifE et 9
Prove that if two chords of a circle are congruent then they will be equidistant from the center.
~OR - ~k- |
-t male Jﬁw’ Wumle Y ] l:hu ;:LSI fé@-ﬂ:
Prove that two tangents drawn to a circle from a point outside it, are equal in length.
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A

&g the middie mozt {

D C B A Duestions !'r ﬁslﬂf ;iﬁﬁ} ’
=y A - ~ e Bl U Al oie S 0| 1
Bousndary Chord Sepment Sector | A portion of a cirele between two radii and an are is called: ‘
, %Eﬂfﬂ}ﬁ;ﬁ:ﬂrﬂﬂm ST e A WO '|
& " 40 L An are subtends a central angle ﬁféﬂ* then comesponding |
chord will subtend & central angle of: i
A s S =L e Errpfdl A m_fl 3
Center [hameter Chesrd Becant | A circle has only one:
Lol ' Lfllﬂr!niuu"_u}re.ﬁi_ﬂj 4
i : A chord passing through the center of a circle is called:
A e & —
sect B = 5
.~=_n‘:1'lffr 2 fﬁuﬁ 3
A data inthe form of a frmutm}' dnstn bution is called:
F ) "1 P e ElE & .n.-g,ll.-“.nﬂ_frlrfﬁai;lgﬂ‘

Fower set of an emply set iss

{ | : T ll
| W m Il 1 Point (-1, 4) lies in the quadrant: :
{ . .y e ] ﬁr,h,i‘r;‘,hg L ,_ﬂ{n-ﬂ-l]i—?: +En+9 1o
Fraction An identity An equstion cqualion | ifx +Jl}1 =1 +hr+0 ju
[
e 3 4 ki e UL B T EL EI - I
4 3. 4 Find the value of x in proporfion 4 :x::5: 15
b (o A b g | . byl xiyed| 12
Means Conscquent Antecedent Relsiion  |Inaratiox:y, yis called: e
‘?mi 2P 120 J Pl x =x=1=02uL-B. 0 0 13
- 4 2 =1 lire, B oare the roots of 32 —x —| = then product ‘et J
3 of the roots of 2o and 2P js; -
s F Jrd T .,L,E.Lﬁuéuﬁ a? s b+ o=0abb-db? ~dac<01| 14
s o rrational Batiosal IE’ hrl . 4a¢ < (), then the roots of the equation
s |ax?sbusc=0amn
P 3 2 I LEE,}&LIM&‘;W}M 15
The number of methods o solve a quadratic equation is:
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( Part-1 Jj 4das )

Write short answers to any 51X parts, gﬁn@}lgfﬂﬁpmqéjf
Wirite the quadralic equalion in standnrd Torm: i—:‘% - [’;; b =0 fbﬂlﬁj ;-afh.lﬂ-s {i)

Solve by factorization: Sad = )8y

Diefline reciprocal equation,

Sal=isn g Nuded i)
By et iy
A-xedml e AP A et )

Find the sum and the predust of the roots of the quadratic equation: g - Sy 43mp

Evaluste:  (1=w+n?)®

(1= "l"ﬂ:l& :é}"hﬂﬂ‘é (vl

Discuss the nature of the roots of the equation: x° +6x-1=0 xlsbn—l=i Egéf{rﬂlﬁb%}d;w {wi)

Find the value of p, if the ratios 2p + 5« 13p+dand3: 4 are cqual.

Wy and V=5 when R=3, find B when V = =625

=ulrgle 3@ ol Ip+ 5 3p + ﬁlfﬂgfj‘*‘.s-édi P wii)

VO G R Gy R=D s V=5 0 vap)

{wiii)

Find the fourth proportional of: 4x* , 247 |, 164¢ S | - )
Write short answers to any SIX parts. -E@%mlﬁlféﬂ iy
E : x=ll =11 P e
Resolveintopanial fractions:  To—prees iy Stz @

What is & proper fractlon?

Diefire ame-one funciion.

IFA =N and B = W then find the value of A - B
WY¥=2" and T=0" then find YUT

IFMl = {d, e, F, g}, then find two

Find range of: 11500, 12400, 1.

Wrile three properties of arithmetic mean,

Tedntllah i)

- Al oo Gin)

Erelf A-BERBaWa AN Gy
LS YUT e 120" vz
binary relations in MM | -E Pt MM M= (e g S (i)
' LE i

15000, 14500, 14300 11500, 12400, 15000, 14500, 14800 folors o (uiii)

Aot @

Write short answers to any SIX parts. émﬁ‘_&mq@ﬂf -

IT v and v varies inversely and u
Comvert 15 1o radian.

Find r when ¢ - $gem and B=d5

Deefine an angle,

(%)

SaAland @
uullﬁé;rﬂyﬁ-gﬁhv=3ﬁul:ﬂﬂﬂﬁ*ﬂt valuh (i)

=8whenv =], find vwhenu= 13,

Edatat. 150 Gy
A 1 0=4S Ly tasem Gy

-FwAln
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Locate the angle ﬂ"m““ in xy-plane. T ﬂ%i L3 (i)

o ds0= % E=dom G B ¢ (vii)

MLA=60° .y mAC=dem « mAB = Sem G oo mBC 2 AABC (viii)
Ina AABC , calculate mBC when mAR = Sem . mAC = dem and mLA = 60°

AT (7 O X ) )
Write the formula for finding the angle subtended by the side of a n-sided polygon at center of circle.

-9 ﬁ}i_,]lr -L,Jfﬁ} 08 L iwz =§gf¢lh”£@m’ﬂf@ﬂ; spd gt delas
| Part - I1, Attempl any THREE ﬁutsl,mh, Each question carries 08 marks. Question No. 9 is compulsory.

- 2 § | L= = 1 i =%
Salve the equation by completing square: 3= 3;E+I E 3—1;1 ,: 15 Eéﬁéﬂh@j{fﬁw e

Find r when {=4cm E—" radian,

Prove: X+ ¥ + 2 - 3nyz = (X + y + Z)x + oy + 02X + o'y +wz) ':,_;«:i_'.;-.:_e ()

Findx, if B—x:11-x2:16-x:25-x Ef-,u:11=}tzflﬁ—x525=nﬁ%r#ggtf;.r‘;_;j!) 6

Resolve into partinl foctions: -2 texl, xadxtl L, se (D)
solve into partial frections: =S5 o BT JERus A6

MZ=12,3571,13,17,019,23) J ¥Y={0,2,4,6,8,...,20) « X={1,3,5,7,.... WM () .7

-;;érﬁ*‘ﬁu YIN(XUZ)
IFX=(1,3,5,7,...519,¥={0,2,4,6,8,...,20) and Z= {2, 3,5, 7, 11, 13, 17, 19, 23} then
find (XUY)IN(XUZ).

Find the standard deviation 'S' : 9.3,8,8,9, 8,918 .J_f'rjh" 'S'Qﬁfkjﬂ;y ()
- sin+ cosd cos* sinB+cos® _ cos’0 . () _g
L. = g & & B e 1 . ol = LN 4 13
Verify the identity: = 30— ™ 3in0—cos® tanif@—1  sinB-cosB g ablati (S0

S SPE D 35 s Ul v nL S S (L)

Draw two common tangenis o two tﬂunhmg circles of radii 2.5cm and 3.3cm.

e brtfe o stir ,:f._,rﬁw‘._i;n..,:fumluﬁ&u:n;;whrmm_;wﬁ@{_fr -9

Prove that the mﬂasurg of central angFe of a minor arc of a circle, is double that of the angle subtended by
the comresponding major arc.

-~ OR - —k-
oy y bﬂljyd Uuﬂ;ﬁ.gfis@ﬁdgﬁﬂg ==k

Prove that two tangents drawn to a circle from a point outside it, are equal in length.
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